

Name: \_\_\_\_\_ Class: \_\_\_\_\_ Date: \_\_\_\_\_

## Mid-Year Revision

### Section A

Choose the correct answer.

Write the correct answer – (1), (2), (3) or (4) – in the brackets to the right.

1 What is  $900\,000 + 7000 + 5 + 600$ ?

- (1) 975 600
- (2) 970 605
- (3) 907 605
- (4) 900 765

( )

2 In 384 659, what is the value of the digit 3?

- (1) 3 thousands
- (2) 30 thousands
- (3) 300 thousands
- (4) 3 millions

( )

3 Study the number pattern.

650 321, 670 521, 690 721, , 731 121

What is the missing number?

- (1) 690 921
- (2) 700 921
- (3) 710 321
- (4) 710 921

( )

4 What is the difference between the two values of the digit 5 in 156 950?

- (1) 49 950
- (2) 49 995
- (3) 499 950
- (4) 499 995

( )

5 423 700 is 30 000 more than .

- (1) 123 700
- (2) 393 700
- (3) 420 700
- (4) 453 700

( )

6 Which of the following is not an equivalent fraction of  $\frac{2}{5}$ ?

- (1)  $\frac{4}{10}$
- (2)  $\frac{12}{20}$
- (3)  $\frac{16}{40}$
- (4)  $\frac{40}{100}$

( )

7 Which of the following shows the product of prime numbers for 90?

- (1)  $9 \times 10$
- (2)  $2 \times 5 \times 9$
- (3)  $2 \times 3^2 \times 5$
- (4)  $2^2 \times 3 \times 5$

( )

**8** Which of the following does not have the same value as  $2\frac{1}{4} \times 3$ ?

(1)  $6 + \frac{3}{4}$

(2)  $2\frac{1}{4} + 2\frac{1}{4} + 2\frac{1}{4}$

(3)  $\frac{9}{4} \times 3$

(4)  $3\frac{1}{4} \times 2$

( )

**9** Mr Smith won £2000 in a writing competition. He donated £50 to charity and shared the rest equally with his wife and four children. How much did each of them receive?

(1) £325

(2) £333

(3) £390

(4) £400

( )

**10** The population of Edinburgh is 486 120, which is 106 700 less than Glasgow. What is the population of Glasgow?

(1) 378 520

(2) 379 420

(3) 574 820

(4) 592 820

( )